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QUESTION 1

How can you deliver a forecast for drop shipments? 

A. It cannot be done at this time. 

B. Generate manually using Planning Analytics 

C. Excel upload using File Based Data Import Process 

D. Create based on the supplier performance for drop shipment collection 

E. Create based on the drop shipment or booking history; the ship from will be the drop ship validation organization 

Correct Answer: E 

Reference: https://docs.oracle.com/en/cloud/saas/supply-chain-management/r13-update18a/faupc/manage-supply-
network-model.html#FAUPC2085579 

 

QUESTION 2

Which disaggregation methods are used for each of these measures: adjusted shipments forecast, target service level,
and shipments forecast? 

A. Adjusted shipments forecast uses measure, target service level uses same value, and shipments forecast uses self. 

B. Adjusted shipments forecast uses proportional, target service level uses same value, and shipments forecast uses
measure. 

C. Adjusted shipments forecast uses measure, target service level uses same value, and shipments forecast doesn\\'t
have any disaggregation method. 

D. Adjusted shipments forecast uses measure, target service level uses equal, and shipments forecast doesn\\'t have
any disaggregation method. 

E. Adjusted shipments forecast uses equal, target service level uses same value, and shipments forecast uses
measure. 

Correct Answer: A 

 

QUESTION 3

Your client wants to utilize product categories on sourcing rules. They have created a new category for this and
populated the items for it. 

Where do they set up the category planning uses when evaluating sourcing rules? 

A. Manage Planning Profile Options 

B. Manage Plans 
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C. Manage Sourcing Rules 

D. Manage Assignment Sets 

E. Manage Planning Source Systems 

Correct Answer: D 

 

QUESTION 4

Your client manufactures consumer electronics and has all facilities live on Oracle Cloud. Their latest product has a very
complicated manufacturing process and therefore can only be made at one facility (Organization ABC). However, it is
ordered all over the world. 

How should the Sourcing Rule be set up to accomplish this? 

A. A global sourcing rule for 50% make at ABC and 50% buy from ABC 

B. A local sourcing rule for 100% make at ABC; a global sourcing rule for 100% transfer from ABC 

C. A local sourcing rule for 100% make at ABC; a global sourcing rule for 100% buy from ABC 

D. A local sourcing rule for 100% buy from ABC; a global sourcing rule for 100% transfer from ABC 

E. A global sourcing rule for 100% make at ABC; a local sourcing rule for 100% transfer from ABC 

Correct Answer: D 

 

QUESTION 5

You are viewing a drop shipment plan for your organization and you want to know which customer the purchase order
will be shipped to. Where can you see that? 

A. You need to first drill down to the sales order from the supply-demand link, then open the sales order to get the
customer. 

B. It is visible in the drop ship analytics. 

C. It is not viewable at this time. 

D. You can see the customer on the supply in Supplies and Demand. 

E. You can see the supplier on the sales order, but not vice-versa. 

Correct Answer: A 
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